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Research on design parameters of bellow-type expansion joint

CHEN Jun DUAN Yunling DU Xiaohu PAN Jiazheng
Department of Hydraulic Engineering Tsinghua University Beijing 100084

Abstract In this paper the load character of the hydraulic bellow-type expansion joint is studied and the MSC.
NASTRAN software is used to analyze the influence of various loads on it. Based on the analysis results some
suggestions for the design parameters and the best setup temperature are proposed.
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Fig.1 The model of bellow-type expansion joint
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Table 1 The entire analysis result of bellow-type expansion jointS designed by Hua Neng Corp.
mm
o+ 8}1 - € MPa mm MPa mm
0+ 0,—€+4, 0+ 0,—€+0,

8 172 7.548 290 11.915

6 129 5.661 254 10.015

4 86.2 3.775 221 8.119

2 43.1 1.888 187 6.204

0 0 156 4.304

2 43.1 -1.886 139 2.413

4 86.3 -3.773 140 0.508

6 129 -5.661 152 -1.393

8 173 - 7.546 185 -3.26
1
Opax =Max 6 0 460, +0, —axlx Tec-Ts o6 0+0,+0, —axlx Ty-Ts 1
1 Ty T¢
6 0+0,+0,—axlx Tc-T¢ o 6§+06,+0, —axlx Ty-Ts

Cpax =0 0+0,+0,—axlx Ty-=Tg =06 0+0,+ 06, —

axlx TC_TS 1 TS
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8opt
=3mm ~ Smm
O opt 1
T. = TH+ TC 5w + Sopt+ 8/1
5= 2 - axl
7
1 1~3
0.1~0.15
2
T. - Ty+Tg Syt o+ 0y
S 2 axl
J . 2000 16 4 .
J . 2001 1 40~41.
S .1985
4 J . 1993 2 33 ~38.
5 J . 1996 1 53~56.



